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Both of them are 215 — y79°1°2% 75K851% RT2VNOKR X7 PPIUL 2701w
But a 112852 was accomplished between both of them

OVERVIEW

The X773 cites the ruling ws o7°1w and asks why it is so, since XT7°2yN°X
11721 19891, The words Pwd 07°1w do not appear in the X3 previously;
they do however appear in our 71wn. It would seem that the X»3 is citing the
mwn (in the usual manner which the X773 cites the 7iwn when it seeks to
understand or explain the 71wn). MdOIN disabuses us of this notion and also
explains what the X723 meant by this question.

— 1PNNNNN IND 19N
The X713 is not referring to the 275 071w which the 71w says, when the

X713 cites 2°1wd 0w and continues with the question -
— (%797 VAPV O¥aAP 29905 119 NN 239N VWO 139971 179909 ©NNIYT XY 9NV

Because later the X7 asks concerning the Xws9 of 2>up 2w (in our

miwn) which is the case of %1% 7% NN YN VRS, so why would the X723
reference the X9°0 of the 71wn before the xw»1?!
— YUNP NRVN 29N 279D 1N INNRT 29IV ININPT INNIN INP NIN

Rather we must say that the 8923 is referencing that which was previously

stated that the 71w counts only the nXwr 2197 979 1772 SNRT WS, implying -
— 215593910 NP1 PNV 17%Y NYN 113 1YY AXVN YN

That there is no nXun 27 in these cases, but rather both of them are

D, as it states in the 7IwM; regarding this the X7n3 asks -
— 91993221 NANYN RTIAYNIN NI INNN)

But why should they both be m5?! Was not work accomplished between
the two of them?!*

moon clarifies the question of 11721 XYM RTAYNR R DK
— PYNIN ANIY 7599 R

' See ‘Overview’.

% pwo jaw first appears at the end of the third clause in our 71wn, while *1v77 Lw» is the beginning of the
first of the four clauses in our 71wn. It is illogical that the X773 would cite the third clause before the first.

? mpoin is (perhaps) justifying the phrase 1179 173w (which is not mentioned in the X3 previously). The
Twn is mentioning the NXVA 211 *7°2 *NRT MWD and both are WD (even the one who made the 7m3); the
question is why they are both 715!

* This concludes the first part of maon which clarifies what the X3 is citing when saying 2>19 D1, See
‘Thinking it over’ # 1.
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And the X723 did not ask that the first one, who made the 77°p¥, should be
23997 -

- S)W)N‘)ﬂ 29NN NININN 99N NNIN NYWPY WA 27 YT NIID PNRT
For it is not logical to say that since the second person made a 71277 and
completed the 72892, this should cause the first one to be 2°°m!

519901 N9 179 YW 295 2PNV 7519 NP 1IUN RIN

But rather the question is regarding the second one that he should be
21 since the 71o8%% was completed by him making the 7.

SUMMARY

The X713, when it states 27105 071w, is not referring to the 2 wd oW of
the mwn, but rather to the implication of nXvn 211 72 °NXRT WD which
indicates that > wo 071w, and it asks that the one who made the 71717 and
completed the 719897 should be 2>11.

THINKING IT OVER

1. Is there any connection between the first part of n1901n which tells us what
the &m3 was referring to when it stated 1119 o°2w,” and the second half of
mooIn, which explains the question of 17127 79X X72vNK XM ?°

2. Mmoo explains that the question of ™21 7oK1 R7°2YNR &M does not
mean that the first one should be 211 a 127p2; only the last one. Did nmsoIn
entertain the thought that the question was that they should both be 272 a
1277 [together]?’

> This negation applies even if the 9?1 was XX (or 0°191) as long as he did not make the 737

% It would seem that since the X»3 is referencing NXoR 217 7% *NRT >N (as MOON just mentioned), then
the question of ¥1°°1°21 72X X7°2vNK is that only the one who made the transfer and the 7m177 should be 2%m,
but if either of these conditions are lacking there is no reason that he should be nxuvn 2»r. See w°X nr.

7 See footnote # 4.

¥ See [p M ow n"721, K] KW

? See X" (on the XM3).
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